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Percent | Word Problems

A plant was initially 15 inches tall. After a month, its height increased by 20%.

How many inches did the plant grow?

1)

A basket contains 120 apples, and 15% of them are rotten. How many apples in

the basket are not good to eat?

2)

3)

A water bottle holds 64 ounces of water. Andrew drank 50% of it. How much

water did he drink?

4)

The marked price of a remote-control car is

the purchase, determine the amount of tax that will be added to the price.

50S5)

Sarah decided to buy a jacket that was originally priced at

a 25% discount on the jacket. How much discount did Sarah get?

200S . The store o!ered

. If an 8% sales tax is applied to


